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Il Semester 3 Year LL.B/ VIl Semester 5 Year B.A. LL.B. (Maj.-Min. System)/
VIl Semester 5 Year B.A.LL.B/B.B.A.LL.B. Examination, December 2019
LABOUR LAW
(Old/New)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Question No. 9 and any five of the remaining
questions.

2. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.

3. Answers should be written either in English or Kannada
completely.

Define ‘strike’ and ‘lock out’ and distinguish between them. Marks :
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. Discuss the provisions relating to ‘Health’ under Factories
Act, 1948.
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. Define ‘Trade Union'. Examine the extent of immunities
available to registered trade union from civil and criminal
Iiabilities
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. Write an explanatory note on “Medical Benefit Council” under
Employees State Insurance Act.
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. Discuss the definition of ‘Industry’ with the help of decided
cases.
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Q. No. 6. Explain the theory of Notional Extension of Employer's
Premises, with the help of decided cases. Marks : 16
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Define ‘Wages'. Explain the provisions relating to fixation and
payrnent of wages. Marks : 16
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. Write note on any two of the following : Marks : 8x2=16
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a) Retrenchment.
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b) Cancellation of registration of trade union.
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¢) Labour court.
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Solve any two of the following problems : Marks : 10x2=20
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a) A boy was employed by the factory as tea boy and it was
part of his duty to take tea from the shop which was situated
outside the factory gate to various persons working in the
factory. One day when the boy was coming out of the factory
after serving tea to the workers he passed through a violent
mob of factory workers who were leaving the factory. This
mob attacked the police and the police had to fire upon the
mob in self-defence. Unfortunately the boy was severely
wounded by a bullet and died on the following day in the
hospital. Now the mother of the boy claims compensation.
Decide by glvmg reasons.
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37 women are employed in Seema Industries near Narasapur.
Since only 4 women workers were having children below the
age of 6 years, the Manager of the industry refuses to provide
creches for the children. Is the refusal correct ? Quote the
relevant provision.
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The workers of a reglstered trade union declared illegal
strike. Due to illegal strike employer sustained the loss.
Employer filed a suit against the trade union for the recovery
of compensation. Will he succeed ? Decide
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Il Semester 3 Year LL.BNVII Semester 5 Year B.A.LL.B. (Maj.—Min.-System)l
Vil Semester 5 Year B.A.LL.B/B.B.A.LL.B. Examination, June/July 2019
LABOUR LAW
(Old and New)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of the remaining
questions.

5 Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.

3. Answers should be written either in English or Kannada
completely.

Define ‘Industrial Dispute’. When an individual dispute becomes
an Industrial dispute ? Marks :
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Explain the impact of Industrial Jurisprudence on Labour
Welfare Legislations.
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Discuss the provisions relating to “Retrenchment” under the
Industrial Disputes Act, 1947.

’86@_3@1‘\6 DEng eI 19473@0DY, “FIENFT0 [’
03> LB, w3edFA.

Define “Trade Union”. Examine the extent of immunities

available to registered trade union from civil and criminal

liabilities. Marks :
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Q. No. 5. Explain the various authorities provided under the E.S.|. Act, 1948. Marks: 16
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Briefly explain the provisions relating to health under the
Factories Act, 1948. Marks : 16
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Explain the permissable deductions under Payment of Wages
Act, 1936. Marks : 16

BT Tomwodh O, 19363 SRADY VeBDT @B
s@zﬁm; QTJOO.

Write short note on any two of the following : Marks : 2x8=16
B FNIINPY. cinmdon admi 0 TS w0 :
(a) Strike.
(b) Maternity benefit.
Boriodd z"id
(c) Lay off.
emd'%m 208).

Solve any two of the following problems - Marks : 2x10=20
NS cnToogdn oy :ﬁa’o:;rw?ii DOBOR :
(@) Sumanth a workman while performing the duty of the

employer died due to an accident. It was proved that at

the time of accident Sumanth was under the influence

of intoxication. Whether the employer is liable to pay
compensation ? Discuss.
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(b) The workers of a registered trade union declared illegal
strike. Due to illegal strike employer sustained the loss.
Employer filed a suit against the trade union for the recovery
of compensation. Will he succeed ?
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(c) Workmen immediately after reporting to duty against the will
of the employer, leave the place of employment to attend

the funeral ceremony of ex-employee. Employer treats the
act of the workmen as illegal strike. Decide.
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Il Semester 3 Year LL.B./ VIl Semester 5 Year B.A.LL.B. (Maj.-Min.) /
Vil Semester 5 Year B.A.LL.B./B.B.A.LL.B. (Old/New) Examination,
December 2018
LABOUR LAW

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of the remaining questions.

2. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.

. Answer should be written either in English or Kannada
completely.

Explain the term “Industry” under the Industrial Dispute Act,
1947 Marks :
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Explain the provisions relating to reference of an industrial
dispute.
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Define ‘Strike’ and ‘Lock out’ and when they will become illegal ? Marks : 16
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Discuss the procedure to be followed by the employer to make

any change in the conditions of service of workman under

Sec. 9A of |.D. Act, 1947. Marks :
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Q. No. 5. Discuss the powers and functions of the commissioner under
the Employee’s Compensation Act, 1923. Marks : 16
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Marks : 16

Explain the deductions which may be made from wages under
the Payment of Wages Act, 1936. Marks : 16
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Write sho note on any two of the following : Marks : 2x8=16
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(a) Appropriate Government.
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(b) Workman.
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(c) General Fund of Trade Union.
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Solve any two of the following problems : Marks : 2x10=20
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(a) An employer dismissed the service of a workman for a
misconduct. Dismissed workman raised a dispute under 1.D.
Act, 1947. Whether the dispute raised by the workman is an
industrial dispute ? Discuss.
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(b) Municipality appointed “A” as a workman to repair clocks
of the municipality, while repairing the clock “A” died due
to lightening shock. Whether municipality is liable to pay
compensation ?
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Employees of Raj Bhavan apply for registration of Trade
Union. Registrate of Trade union refuses of register.
Decide.
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lll Semester 3 Year LL.B./VIl Semester 5 Year B.A. LL.B.
(Maj.- Min. System) / VIl Semester 5 Year B.A. LL.B./B.B.A. LL.B.
Examination, June/July 2018
LABOUR LAW
(Old and New Batch)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Question No. 9 and five of the remaining.

2. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.

3. Answer should be written either in English or in Kannada
completely.

. Define and explain the term “industry” with the help of
decided cases.
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. Define “Lock Out” and explain the circumstances under which
Lock Out is legal and illegal.
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. Write a note on partial disablement and total disablement.
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. Explain constitution, powers and procedure of E.S.|. court.
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. Discuss the provisions to safety under the Factories Act, 1948. Marks :
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Q. No. 6. What is a Trade Union ? Explain the procedure for registration
of Trade Union. Marks : 16
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Explain appointment, powers and procedure of authorities
(Inspectors) under payment of Wages Act.. Marks : 16
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Write short note on any two of the following : Marks : 2x5=10
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c) Industrial Dispute.
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Q. No. 9. Solve any two of the following : Marks
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a) Akshata and Co. is a public utility service industry where
a strike commenced during the pendency of concilation
proceedings and the workmen plead that the strike was
provoked by employer. Decide.
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b) A was the employee in the Lory of B. His duties were to
X and the materials on the Lorry and to go with same for
unloading the materials at the work spot. While the Lorry
was moving he attempted to hit rabbit passing on the
read and in the attempt he fell down from the lorry and
died. His wife wants to claim compensation. Advise her.
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‘X’ a member of registered Trade Union refused to
contribute towards the political fund of trade union. He
was expected from the trade union for the same. X’ challenges
the expulsion order. Decide.
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Il Semester 3 Year LL.B.J/VII Semester 5 Year B.A. LL.B. (Maj-Minor)/VII
Semester 5 Year B.A. LL.B/B.B.A. LL.B. Examination, December 2017
(Old & New)

LABOUR LAW

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answer Question No. 9 and any five of the remaining
questions.

2. Question No. 9 carries 20 marks and the remaining
questions carry 16 marks each.

3. Answers should be written either in English or in Kannada.

Define ‘Industrial Dispute’. When an individual dispute becomes
an ‘industrial dispute’ ? Explain. Marks :
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Discuss the provisions relating to welfare measures under the
Factory Act, 1948. Marks :
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Discuss the liability of the employer to pay compensation under
the Workmen Compensation Act.
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Explain the provisions relating to award under Industrial Disputes
Act. Marks :
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Q. No. 5.

Q. No. 6.

Explain the provisions relating to registration of a Trade Union.
FOFE RoPT SRR AoLIORAT OLTVNTTY, DWORO.

Explain the different kinds of benefits available under Employees
State Insurance Act, 1948.
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Explain the deductions which may be made from wages under
Payment of Wages Act, 1936.
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Write short notes on any two of the following.
(a) Closure

(b) Collective bargaining

(c) Strike.
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Marks : 16

Marks : 16

Marks :

Solve any two of the following problems. Marks : 10x2=20
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(a) Suman a worker working in Ramu Industries in Bangalore
is laid off by his employer. The employer provided an
alternative employment in another establishment belonging

to the Ramu Industries owner situated in Hubli. But Suman
refuses to accept an alternative employment and wants to

claim lay off compensation. Whether he will succeed ?
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(b) The Bombay Municipal Corporation carried on a public utility

service in Greater Bombay and for the purpose employed

cerlain drivers to drive the buses. The transport service was

managed by the electricity supply and transport committee.

One of the drivers on 20t July, 2005 finished his work for

the day at about 7.45 p.m. at Jogeshwari Bus Depot. In

order to reach his residence at Santa Cruz he boarded

another bus which collided with a stationary lorry parked

at an awkward angle on the road near Erla Bridge, Andheri.

Consequently he was thrown out on the road and injured.

He was sent to the hospital for treatment but unfortunately

expired on 26 July, 2005. The compensation was claimed

by his widowed wife pleading that the accident has arisen
out of and in the course of employment. Decide.
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Ramu a workman while performing the duty of the employer
died due to an accident. It was proved that at the time of
accident Ramu was under the influence of intoxication.
Whether the employer is liable to pay compensation ?

o e — o —0 e P
, IRdF BSF jj{-ﬂi N RN




